BIOLOGY ONE SHOT - 100 MOST IMP QUESTIONS

1. The organism which depend on the dead and decaying organic matter is:
g g S ga R eEEdt et gerf | R e § 9w w

A. Autotrophs/ st

B. Saprophytes/ @&vierea

C. Carnivores/ wiwmert

D. Herbivores/smmer

2.Which plant hormone is helpful in making RNA and protein?
F-a1 gred g RNA @ 9 sae & ge@e & 37

A. Gibberellins/ frefa=

B. Auxin/ sitfere

C. Cytokinins/ wrzemeefa

D. Ethylene/ wfref=

3. Spiny or sticky pollen grains and large, attractively coloured flowers are associated with
Fieer a1 foufed W #R S, e {1 % po fRoeh @iy 9 g &7

(a) hydrophily/ =mgifteett

(b) entomophily/ et

(c) ornithophily/ sitftefeet

(d) anemophily/ wheifteett

4. Match List-1 with List-11 and select the correct answer using the codes given below the
lists.

eft- |1 % @rer = | = i w6 oi gfemt & = R T e &1 SwnT ek w3 94

List-1/ ==f- | List-11 / ==ft- 11

A. Androecium/dgifmm 1. Female reproductive organ/ afear s+ 31

B. Gynoecium / frimfm 2. Male reproductive organ/ gew s 3

C. Stamen/ =u= 3. Unit of androecium / dgifemm =it 31s

D. Carpel / wmaa 4. Unit of gynoecium/ msferm i 3ers

ABCD
@2134
(b)1342
(03421
(d4213

5. In a bisexual flower, if androecium and gynoecium mature at different times, the phenomenon is
known as

TF JH FA H, R JHER R AN FEAT-AHT G W ANGE B 8, A AeA H 3H T H OFWT M@ F

(a) Dichogamy / fesimmt

(b) Herkogamy/ eimmt

(c) Heterogamy / fammeifiresar
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(d) Monogamy / =it

Androecium

Perianth
Corolla (composed of petals)
Calyx (composed of sepals)

Gynoecium (carpels) Androecium (stamens)

) Pollen grain
o Microsporangia

Style

Ovule
(megasporangium)

Anther

Filament

6. is a monocot plant.
Th UeheliSoEl drem R

(a) Rose / et

(b) Daisy / st

(c) Garlic / =g

(d) Carrot / i

7. The first stable product of photosynthesis is
TRTST TYCTYUT ShT oI TRl e 214

a) Starch / ==

b) Sucrose / geist

c¢) Phosphoglyeric acid / wrsmife s
d) Glucose / <t

8. Conversion of starch to sugar is essential for
wrE & PR afEfda e & o e § & w strawss 2?

a) Stomatal opening / wrer %1 ger
b) Stomatal closing / =it =1 5= &
c) Stomatal formation / Tkt ==t
d) Stomatal growth / wfi= fasma

9. The living content of cell is called protoplasm. It is composed of
FHITITEhT T THE Sfiferq 3791 Sfarsed weaar 21 e e foraw fafda aar 872

a) only cytoplasm / et sifirs=r
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b) cytoplasm and nucleoplasm / wif¥rssr iR FsFs
c) only nucleoplasm / sae sserssr
d) cytoplasm, nucleoplasm and other organelles / sifimrge, Frsshs=r 3 31=1 SIf¥TeRiT

10. Penicillin inhibits synthesis of bacterial
afafirefi & forert dveror fifee grar 87

a) Cell wall / Sfrarfvas =ifsrer fufe

b) Protein / Sfanfige wid=

c) RNA
d) DNA

11. Which one of the following is called the ‘Digestive Bag’ in the cell?
fordr IfRTeRt &1 “OTereR-Olt e ST 27

a) Golgi body / Tiiesft s

b) Mitochondrion / argeretf-gan

¢) Ribosome / wreisim

d) Lysosome / =rs@rsia

12. Which of the following pair is not correctly matched?

T ¥ I |1 SISl wel g e 8-

a) Vitamin B : Pyridoxine
Fererfer <ft : RIHtEERIC)

b) Vitamin C : Ascorbic acid
ferarfim =t ; TGt Tfirs

c) Vitamin E : Alpha tocopherol
[ECAEC : ITTHT IR

d) Vitamin D : niacin

foerfim & ; BRI

13. In which of the following part of the cell does the pyruvic acid is broken down into
carbon dioxide, water and energy?
SHif3reRT 3 freferfad Wi # @ 6 a1 dEiash (e we SReeEREe, T SR SNl 7 qiEtdd Sidr 2?

a) Cytoplasm [Saz=

b) Nucleus / F==

c) Mitochondria / arseraifgar
d) Chloroplast / serreme

14. Match List-1 with List-11 and select the correct answer using the codes given below the

lists.
eft-srem % wre firer g | o gferlt % e faw e e o SwinT e wEl ST =9
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List-I List-11
Bones Names
A. Brain bone 1. Clavicle
Hitash i gLl Kl
B. Collar bone 2. Patella
Hie TgLl LKl
C. Knee cap 3. Scapula
T T T < 1 Tl
D. Shoulder blade 4. Caranium
%Y FT g i
Codes:-
A B C D
a) 1 3 2 4
b) 1 2 3 4
C) 4 1 2 3
d) 4 1 3 2

15. 15. Match the hormones in List-1 with items in List-1l and select the correct answer using the
lists:

wreit-fdta & weft-wom & gt & e Y of it ST IudT teh @Et 3T 1 ohT i

List-1 List-11
a. Adrenalin/ ufgafers 1. Anger, fear, danger/Tes, W&, @@
b. Estrogen/ v 2. Attracting Partners/ uréas =1 stehfua ST
c. Insulin/ sgfem 3. Females/ nfeemd
d. Pheromones/®mia 4.Glucose/ TeeRr
Codes:-
A B C D
a) 3 1 4 2
b) 1 3 2 4
C) 1 3 4 2
d) 3 1 2 4

16. Which one of the following forms an irreversible complex with haemoglobin of the
blood?
frfafiad & @ %9 a1 T J S % 91 U AUREd-T aiER ST 87

a) Carbon dioxide /= erzeifdse

b) Pure nitrogen / 35 Arsgem

c¢) Carbon monoxide / e+ TsitaaTss

d) A mixture of carbon dioxide and helium / == eEeifEe 3R e 1 fasor

17. The vector of Kala-Azar is-
SHIAT-STSIR AT T STEF B-

a) Anopheles Mosquito / wrfeferst a=at
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b) Culex Mosquito / Feg T=et
c) Tse-Tse Fly/ <.« waat
d) Sandfly / &< gaeht

18. The vector of disease sleeping sleeping sickness is-
fig it sfrarT T 1 e B-

a) Sandfly / &< wat

b) Housefly / =ey wereit
c) Fruitfly / % werdlt

d) Tse-tse fly / =f-=t werait

19. Which of the following pairs of vitamin and disease is/are correctly matched?
Tt 3t T o Fefafaa o 7 H-|1/| gafed of 87

a. Vitamin-A = Rickets
frafim- A frorea

b. Vitamin B| = Beriberi
frerfim- By - R’

¢, Vitamin-C = Scurvy
frerfim- C Tt
Select the correct answer using the codes given below:
et 3T T e T T R EE IR AT
a) Only 2

b) 2and 3

c) land3

d) 1,2and3

20 The carbon dioxide content in the air that weexhale is about
&A1 o e SrEATFETES o HET N9 81 aTel fehred §

A. 4%
B. 8%
C. 12%
D. 16%

21. A vein differs from an artery in having-/ v fsrr s et & fi=t 2t 2-

(a) Narrower lumen / ss o=

(b) Strong muscular wall / #sr=a =fra fif

(c) Pigmented wall to give it a dark appearance/ @fi= fuft 58 ue meq &9 3t &

(d) Valves to control direction of flow of blood./ @ % ware i faem =t fRifd w & fore are

92. The lactose is made , from . . ..
AFEIST ST ST &,
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(A) Glucose + Fructose/ et + gt
(B) Glucose + Glucose/ === + whist
(C) Glucose + Galactose/ =@rst + TSt
(D) Fructose + Fructose/ a2t + paerst

19. Match correctly the insect vectors in List —1 with the diseases transmitted by them given
in List I1:
gt | o fow e Tt & shie deex ot gt -1 wel @l | e

List | List 11
A. Anopheles (female) 1. Kala-azar
HTGT TATTheAST Foat T TSR
B. Culex 2. Sleeping sickness
ERGER R Hfig &t s
C. Sand fly 3. Filariasis
T TR it
D. Tse-tse fly 4. Malaria
HY-ft et Herfar
A B C D
a) 1 4 2 3
b) 2 1 4 3
c) 3 2 1 4
d) 4 3 1 2

21. Increased RBC’s in the blood leads to a condition called-
T ¥ STt S gfg & uew feafe et 2t 2 58 wver ST 3-

a) Anaemia / wHifem

b) Haemophilia / gmrdifern

¢) Polycythemia / areframsefifirr
d) Leukaemia / wehifiar

22. Match the following lists.

Tt gfertt =t firemd

List | List 11

(Discoverer) (Discovery)

A. Jenner 1. Blood grouping
SR T TR

B. Watson 2. Penicillin

e Ao

C. Landsteiner 3. Vaccination
[ELAED SreRTeRTOT

D. Flemming 4. Double helix

A B C D
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a)
b)
c)
d)

w www
N DB
NG CI )
RN RN

23. Which drug is used as a Nonsteroidal anti-inflammatory drug?
forer aftwfr &1y TR-wiiise SaeHRiaE gaT % &9 § grar 87

a) Risebronate / wsigre
b) Diazepam / srssrdm

c) Folic Acid / wifee s
d) Ibuprofen / ssses

24. Protein part of enzyme is known as
TSI o W I 9T 1 T il 87

a) Isoenzyme /seidsmsa
b) Holoenzyme / graistsn
c) Apoenzyme / wardsien

d) All the above / swja &+t

25. Christmas factor is involved in:
foreme e wfhet 8rar 8-

a) Blood Coagulation /- smma
b) Excretion / scasia &

c) Digestion / arem &

d) Respiration / v+ %

26. Animals that can tolerate a narrow range of salinity are?
I e ST AFUTdT <l Teh ThIvt EHT ! TeT HL qohd 87

(a) Stenohaline / =T

(b) Euryhaline / =frs=

(c) Anadromous / Trgrma

(d) Catadromous / ergme

27. Double-helix structure of DNA is discovered by
T Y TR fered T T @S T ¥

a) Gobind Khurana/mfs= gt

b) Nirenberg/fmsrt
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¢) Watson and Crick/ates 3tk for
d) Darwin/etfda

28. What is the smallest gland of the human body?
T IR AT gerd BreT 1Yy i df 27

(A) Liver/z=a

(B) Pituitary Gland/ foezed wifr
(C) Pancreas/ sw=mm

(D) Thyroid/ arrrse

29. Who among the following analysed DNA for the first time?
AT, T AR Foha gt S foran?

a) Arthur Kornberg / siteft srant

b) Hargobind khurana / zwiifse gumr
c) M. W. Nirenberg / . ssq =@t
d) Watson and Crick / dfe ud foreh

30. Ginger is a stem and not a root because-
3G T 7T & SIS el & Hifoh-

a) It stores food material / == sisa aret Hufed s 2

b) It grows horizontally in the soil / @z &fosr w9 & yiffr % foepfaa rar 21
c) It has nodes and internodes / 71 Tifs 31k 9~ F& &rar 8

d) It lacks chlorophyll / == seifteer fad e 21

31. Examples of Multicellular Microorganism are
FEHITRTART GETSal o IaTeT &

a) Algae, Bacteria/ stara, ae@ifen

b) Bacteria and Fungi/ sseifen iR was
c) Bacteria and Viruses/ s=ifen iR arr
d) Algae and Fungi/ ame 3R Faeh

32. What is the percentage of urea present in the urine?
T H i & faerd fopaar gt 87

a) 96%

b) 0.2%

c) 2%

d) 5%
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34. Gymnosperms and Angiosperms are together called as
forrent it dforirerd i ush g EISIGIE

a) Spermatophyta/ wrererser

b) Sporophyta/ TariwEeT

c) Dermitophyta/ sfifererser

d) Embryophyta/ uftsrimerger

35. Chitinisa
FEfeAwE_ ®

a) Monomer/ #rmR

b) Heteropolymer/ getiiefme
¢) Homopolymer/ grmiferme
d) Dimer/ fem

36. How many bones are present in human skull?
T et # feradt ggfeat Hise et 87

a) 14

b) 10

c) 8

d) 7
37. Which one of the following statement is correct about vestibulocochlear nerve?
AfteaarhIhicrR dfeR & ai & ffalad § & & a1 o w87

a) It connects ears to eyes/ g i &I i@l & SredT &
b) It connects ears to brain/ =g i st aftask & srear &
c) It connects ears to mouth/ =& i =i fe & Sigdr &
d) It connects ear to nose/ ==& =M =i AT ¥ Sfredr &

38. Identlfy the part of the eye.
3T o el il gg=|
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a) Cornea/ =ifn

b) Optic nerve/ sifiee dfea
¢) Blind spot/ sarse wie

d) Fovea/ wifasm

39. Identify the part of the eye.
3G o fE&8 il gg=m

a) Ciliary bodies/ fafast steisr
b) Cornea/ =ifar

C) Iris/ stsfa

d) Lens/ <=

40. Which part of human body control the hormones secretion by endocrine gland?

e IR T i A7 0T USishie ie gRT g o J1d 1 FEfid star 87

a) Medulla oblongata / #gem tsifrer
b) Thalamus/ Sewa

c) Hypothalamus/ sr=aecma

d) Cerebellum/ afeem

41. What are the two categories of cell which nervous system is made up of _?
SHITITeRT T a1 ATt o €t § S dberr dx @ w87

a) Satellite cell and Boettcher cell/ &2arse @@ 31k divex ¥

b) neurons and glial cells/ =fF= 3 glial =ifiwer

c) Gastric chief cell, Parietal cell/ #figs 7w =ifzme, e it

d) Tendon cell and Macula dense cell/ Ze= &< skt fger ar et

10
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42. Which of the following is not an electrolyte present in saliva?
frfafiad # & % AR # HiNE soaganEe T 87

a) Na*

b) Ca?*

c) K*

d) CI

43. Largest muscle of human body is:
AT IR T Ted T e 2

A). Pelvic/afeas

B). Bicep/ smgaw

C). Stapadius/ wufeza
D). Cardiac/ #rfés=

44.Process of formation of blood corpuscles is called
T ahivrehrat 3 fomtor & afskar = EISIIN

a) Haemolysis/ zaifafim
b) Haemozoin/ zursigT

c) Haemopoesis/ zamrsfe
d) Haemoter/ zdrex

45. Which blood cells secrets antibody?
I H Th HITRIE GEITST T G Fedl 872

a) Eosinophils/ Sifaifeea

b) Monocytes/ wrraTsed

¢) Lymphocytes/ farsramea

d) Neutrophils/ =gifea

46.The liquid which collects in Bowman’s capsule is
S e F ST € STl e g

a) Concentrated urine/ %fsa o=

b) Blood plasma minus proteins/ T wirsar Arg18 Tid=
c) Glycogen and water/ wgarsi o arft

d) Urea, glycogen and water/ gfer, wmssis A ot

47 Nerve cell does not divide because they do not have
Rt hfstent fafsra FF 2t & srifer s T qar®

a) Nucleus/#==+

b) Centrosome/ @zram

c) Golgi body/ et site

d) Mitochondria/ wrser=ifrgar

11
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48. Which part of brain act as 'Gate Keeper"?
TSk o I T 9T T2 H' 3 F9 T HrF T 272

A. Medulla oblongata /g siteier
B. Amygdala /[ywfisres

C. Thalamus /gcma

D. Hippocampus /s

49. The controlling centre of the reflex actions of the human body is located at/ wme it & yfead
foramett w1 fror g W R R

(a)Hind brain/ gqdadafiass

(b) Cerebellum/ afeem

(C) Medulla oblongata/ #gem sisimer

(d) Nerve cell / <fremr =il

50. Chromosomes in a bacterial cell can be 1-3 in number and / ws sframy =ifiwer & o 1-3 3R
AT 7 & HeAd 87

(1) Are always circular. /z8em gumR & 2

(2) are always linear. / =5 g 2 &

(3) Can be either circular or linear, but never both within the same cell. / =1 qr TR a1 Fae =&
TEHAT 7, TR GHT Tk 2 hIfRTent o +fiax shft 7|

(4) Can be circular as well as linear within the same cell. / v & @a & it aftas oK @y & Wae &
AT 2

51. What does “lac” refer to in what we call the lac operon? / “&&” =i @1 319f & 5@ 80 e STRA
FEd ©

(1) Lactose / <=t

(2), Lactase /d#s

(3) Lac insect / @@ #ie

(4) The number 1,00,000 / s=r 1,00000

52. Which one of the following conditions though harmful in itself, is also a potential saviour
from a mosquito borne infectious disease? / fmfafaa & @ = €t Rufa gretifer 3o o1 & TR 8, th

T A T ST & T gftearar «ff 27

a) Thalassaemia / Sewffirm

b) Sickle cell anaemia / & i @rer =ifdrERTeA S et
c) Pernicious anaemia / @f-eres T i &

d) Leukaemia /eeftmm

53.in which kingdom would you classify the archaea and nitrogen-fixing organisms, if the
five-kingdom system of classification is used ?/ afs s1ma gi=-tsa yoreft o afieror T IT=NT *d &,

T SATHAT ST AL IS - BT et bt ket shadtl

12
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a) Plante / wiie
b) Fungi /%
c) Protists / wam war @
d Monera /=T

54.Plant reproducing by spores such as mosses and ferns are grouped under the general term /
IS ST et S8 SfSIOrSAT ST WS WA hi |HIRT AT 3 8 afiehd (AT ST §

a) Cryptogams / fsreerity

b) Bryophytes / smaresea
c) Sporophytes/ wrwEH
d) Thallophytes / dcfrerzer

55. ELISA is used to detect viruses where the key reagent is / | uferar s I g =l 9ar &1+ %
T foparm 1T @ STt W@ iR §

a) Alkaline phosphates. / teeTsT ®he

b) Catalase. / scif &

c) DNA probe/ giwe s

d) RNase.

56. The end product of alcoholic fermentation is....... 7’
HTee foRva a1 3ifaw e, g?

a) Pyruvic acid/ ursefo= tfae

b) Acetaldehyde/ wfrermse
c) Ethyl Alcohol/ wfoet s
d) Formic acid /wifde tfae

57. Ultrasound of how much frequency is beamed into human body for sonography?
AT % foTT AT IR fohat strafer st f3heor s < STt 27

a) 45-70 MHz
b) 15-30 MHz
c) 30-45 MHz
d) 1-15 MHz

58. Human insulin is being commercially produced from a transgenic species of ....?
A ST 3 ATSETRI T 8 IS Teh Ziasi (e Sl § T ST &1 87

a) Sacharomyces/ gRmrgets

b) Escherichia/ wiftferan

c¢) Mycobacterium/srearrerrifem
d) Rizobium/esiifsrr

13
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59.Antibodies in our body are complex...... ?/ TR IR ¥ U e, . ... g7
a) Lipoproteins/ faumid=

b) Steroids/ =izre

c) Prostaglandins/ srerciféa

d) Glycoproteins/ s

60. 'Black Death' is related with -

A.

B.
C.
D.

Tuberculosis /=g
Plague /=
Cancer /&t
Malaria fAifen

61. Insufficient supply of blood in human body is referred as -
TS YRR H T T ST AT bl FET S S -

A.

B.
C.
D.

Ischemia /z=rfirr

Hyperemia /ersafian
Hemostasis /arfaa
Haemorrhage /wrama

62. Muscular partition present between thorax and abdomen is
F&7 37 I o offer Ifeerd ueier forwrsi &

A.

B
C.
D

Pericardium /afemfeam

. Pleura / =wsu

Epiglottis /ofirsitfea

. Diaphragm /ermsm

63. A substance produced in liver which prevents the freezing of blood is called-
Fhd T S ATl 9eTe ST Th Sl ST § TehdT 8, Fedrdl 8-

A.

B.
C.
D.

Heparin /zufa
Trypsin /fgfeem
Insulin /Zgfem
None of These /e78 & =i 7

64. DNA replication (synthesis) occurs in
DNA wferpfer (wswor) ar &

A.

G-phase/=wr

14
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B. S-phase/=wn
C. G2 phase/=wr
D. M phase/=tor

65. Lipoprotein is found in
ISEIIGERIDIE IR

A. Cell membrane /=i fareett
B. Nucleus /atfirs

C. Cytoplasm /=iyt g

D. Cell wall /=ifsre fufa

66. Glycolysis takes place in
TSRS T @

A. Mitochondria /arseraifegan
B. Cytoplasm /=ifsret s
C. Nucleus /atfir=

D. Chloroplast /e

67. Which defect in human eye arises due to the irregularities in spherical shape of cornea?
T o TATHR TR § SATHIT F HROT AT TG F HF °1 AT Scq= ardT 27

A. Cataract /mifenfsg

B. Hypermetropia or long sightedness /ersw@gifiar = it 3fy
C. Myopia or short sightedness /f=rifiarm a1 31t gfe
D.

Astigmatism/zfsawer

68. The dead cells of Xylem are :
STTgeTH shY T SHITITRTT &
A. Tracheid, Sieve tube /2fre, € zga
B. Tracheid, Vessel /2fFe, o
C. Vessel, Companion cell /ara, weanft ifsmesr
D. Sieve tube, Companion cell /e zg=, et Hifww

69. Which of the following type of teeths are called as tearing teeth?
Frferfaa & & forer o % STdT T WIeT &fd e ST 27

Incissors /&%
Canines /&
Premolars /fmier
Molars [z

ooOw>

70. Which of the following does not have poison apparatus?
frfafaa o @ fraes urar fory Suektor 72 37

A. Scorpion /fer=g

15
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B. Centipede /f&de
C. Spider /m=t
D. Crab /=t

71. What kind of a disease is arthiritis?
wifsan fore YR hT T 87

A. Acute disease /s T

B. Chronic disease /et sfart

C. Infectious disease [dshmss TrT

D. Communicable disease [dshmas T

72. Thromboplastin is secreted by
siTvaTeeTfie foreeh T BT =rar &

A. Platelets wecred

B. Lymphokines /farerasea
C. Helper T cells /2ex 3 &=t
D. Mast cells /m=e =ifimr

73. X- ray diffraction of DNA was done by / € & wag-X fyacda foreer grr foram mm om
a) Franklin Rosalind and Wilkins/ e tsifeie o fafesa

b) James Watson and Francis crick / siwa ateem i wifee foreh

c) Sutton and boveri / @ 3R s

d) Bateson and Punnett / sizem 3Rk g3e

74. A doctor in Indian Army, established that malaria parasite is transmitted by the bite of
female Anopheles mosquito. In 1972, he got Noble Prize for this discovery/ s @1 § us et

3 vonfir fopa for weifeam wesfielt #raT THifthefist 7eat & e & et 2l 1972 # 3 36 @it & o rerer qeeenr fira
a) Ronald ross / tmres
b) Kurien / giwm
c) Thomas Hunt Morgan/ g g dfia
d) Carl Peter Henrik Dam/ =ref diex @i 29

75. In 1982 Humulin, human insulin drug was produced by genetically engineered bacteria
for the treatment of diabetes. Name the scientists/1982 #, weie & 7= o foTg STTafies &7 @ et
SR ST B $fe GalT sk SedTed fehalt TRIT Tl SR o AW sy

a) Godfrey Hounsfield & Allan Cormack/ 7itel seadics it taH ®iths
b) Rosalind Franklin and Maurice Wilkins/ Tafeie Swfer ok mife fafeda
c) Frederick Banting and Charles H. Best/ trefw sfém st =red H se

d) James Watson and Francis Crick/) sm dteem st wifere fore

76. The name antibiotic was given by a scientist who Discovered the streptomycin, the first
antibiotic effective against tuberculosis. Name the scientist / ddtamiifess T ueh Sfer grr fozm mar o

o wemefim i @ #i off, ST qufes & Raet geat g9t Gemitee on SeiiHe T AW sarEy

16
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a) Sir Ronald Ross/ @ e T\

b) Selman Abraham Waksman/ @@= sTsien seeiy
c) Thomas Hunt Morgan / s« g #fita

d) Paul Lauterbur/ dfa ek

77. who invented photosynthesis?/ et g=3wor s smfershr fore form?
(@) Sir Alec Jeffreys/ ot tere st

(b) Severo Ochoa/ @it str=mst

(c) Jan Ingenhousz/ s 3@t

(d) None of these/ =& & =€ &

78.. By whom it was stated that the organelles such as chloroplasts and mitochondria are the
descendants of bacteria that evolved into an intracellular symbiosis with early eukaryotic
cells./ 5 grr 71z e T ot o aeiiiveree 3R wTsdienif-gar S St SEeifa & oferet & S e gefafes
FHITRTERTSAT % TTY U SgTieyer. faramfem & faerféa g A

a) Konstantin Mereschkowski/ s=efeT resheeht

b) Andreas Franz Wilhelm Schimper/ tfgam wist faceen e

c) Joseph Bienaimé Caventou and Pierre Joseph Pelletier/ s smrdt et i fr sires

LT

d) Carl benda / =<t szt

79. The Bowman’s capsule is -/ s e 8-

a) A part of uriniferous tubule and is a site of reabsorption of water and glucose / %= =it =1 w
fewa & SR arft TR TS % AEESE T §

b) Present in the liver and is the site of secretion of bile juice / a%a % #iSz & 3R 7 W@ % @& &
A ¥

c) A part of uriniferous tubule and is a site of tubule where ADH acts / smanfest afere @1 o fewmn
& TR 7% AR =1 T e & et ADH & s &

d) A part urniferous tubule and is a site of filteration of various blood constituents during the
formation of urine./mafet Tt i 7 & fmior & S fafir T =k % e Tt T 2

80. Absorption of digested food takes place in the intestine by structures called-
T G IS T SIS ST § 5 ST 51T ST @ I ET S 8-

(a) Capillaries/ =fsrerd

(b) Lacteals / wfoesq

(c) Adipose tissue cells/ ar as =ified

(d) Villi /faeht

81. The three kinds of secretion meeting the food in small intestine are- / e s1ia & wisw & fire
et o JehT % &1 B 2-
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a) Bile, pancreatic juice and intestinal juice / fi=, sramrft W 1R o117 @

b) Bile, gastric juice and saliva / fim, et W 3fit @)

c) Pancreatic juice, intestinal juice and gastric juice / smmrft @, 1 W 3t JX @
d) Bile, pancreatic juice and gastric juice /fia, srmerl W 3 siet ™

82. The cerebellum is concerned with/ sgafas =1 dey 2-

(a) coordination and muscular movements / au== 3 gy S fa
(b) perception/ gee

(c) memory / wreaTed

(d) vision./zfe

83. Cerebral hemispheres are the centres of-/ stmiefir yafiasss s dg @
(@) Thinking/ wm=r

(6) Balance / s@qe

(c) Smell/ =

(d) Taste. /==

84. Which of the following options is not true about red blood cells?
AT Tk IR o IR H Fmfefed § & &9 a7 faees a8t 76 87

(a) Work Transport of oxygen and carbon dioxide. / sifefism 31t sre sEeiiaame &1 e qfiEe
(b) Shape-circular and biconcave. / sT#R-TMemRR 31t St

(c) Length-5.7um / &=ms-5.7um

(d) Hemoglobin-present / greiifs-adam

Ans: (c)

The following are expected complete blood count results for adults. The blood is measured in
cells per liter (cells/L) or grams per deciliter (grams/dL).

Red blood cell count Male: 4.35 trillion to 5.65
A red blood cell count that's higher than usual is known as trillion cells/L
erythrocytosis/ Polycythemia Female: 3.92 trillion to 5.13
A red blood cell count that's lower than usual is known as trillion cells/L

anemia. Or

Male: 4.3-5.9 million/mm3
Female: 3.5-5.5 million/mm3
or

Male: 4.3-5.9 x 1012/
Female: 3.5-5.5 x 10%%/L
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Hemoglobin

Hemoglobin is a protein in red blood cells that carries
oxygen. The hemoglobin test measures how much
hemoglobin is in your blood. Hemoglobin is the most
important component of red blood cells. It is composed of a
protein called heme, which binds oxygen.

Male: 13.2 to 16.6 grams/dL
(132 to 166 grams/L)
Female: 11.6 to 15 grams/dL
(116 to 150 grams/L)

Hematocrit

Hematocrit is the percentage by volume of red cells in your
blood.

Blood is made up of red blood cells, white blood cells and
platelets, suspended in plasma. Together, those comprise
about 45% of the volume of our blood, but the specific
percentages of each can vary.

Male: 38.3% to 48.6%
Female: 35.5% to 44.9%

White blood cell count
A low white blood cell count is known as leukopenia

3.4 billion to 9.6 billion cells/L
or 4500-11,000/mm?3
or4.5-11.0 x 109/L

Platelet count

A platelet count that's lower than usual is known as
thrombocytopenia. If it's higher than usual, it's known as
thrombocytosis.

Male: 135 billion to 317 billion/L
Female: 157 billion to 371 billion/L
Or

150-400 x 10°%/L

85. Which of the following cells present in the human body, does not have nucleus?

HHE IR H AN Frfaiiad # & fore it  sse 72 arar 87
(a) Erythrocytes / tfigarses

(b) Nerve cells / fr wifirrmd

(c) Nonlinear nerve fibres / Famsfer e wEeR

(d) White cells / @tz shifimpmd

Ans: (a)

86. The largest corpuscles in human blood is

e T | a8 ST HivTehT H

(a) Lymphatic cells / st =ifyrenrd

(b) Cells coloured with alkali colour / am @1 @ @i Fifsrerd
(c) Red cells / @t =ifrerrd

(d) White cells / @ws shifsmrmd

87. Purkinje fibres areas specialized as-

qfeheTel HIgeR &R o &9 § fafime -

(@) Neurons in the brain / wf&rs @ ==

(b) Cells in blood / = # =ifsrerd

(c) Glandular cells in the skin / = % zifer Fif¥renrd
(d) Nerve fibres in the heart. / ze= @ dfe dq)
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Ans. (d)

Superior vena cava Right atrium

(1) The sinoatrial (SA)
node (pacemaker)
generates impulses.

Internodal pathway

Left atrium
@The impulses

pause (0.1 sec) at the
atrioventricular
(AV) node.

Purkinje

@ The atrioventricular fibers

(AV) bundle connects
the atria to the ventricles.

Inter-
ventricular
septum

@The bundle branches
conduct the impulses

through the interventricular
septum.

(5) The Purkinje fibers
stimulate the contractile
cells of both ventricles.

88. Match List-1 with List-1I and select the correct answer using the codes given below the
lists./

List-1/ ==f- | List-11 / ==ft- 11

A. Cobalt/ =emee 1. Component of haemoglobin / gxrifar %1 s

B. Iron / @mr 2. Component of vitamin-B12/ fyerfim-sft 12 =1 e

C. Fluorine/ wari=. 3. Thyroid hormone / arrre g

D. lodine/ &= 4. Component of enamel of teeth/afdi & swat %1 o2

ABCD
(a)1432
(b)2143
(€)4321
d)3214

89. Which one of the following pair is not correctly matched? / fr=fafaa & @ % €t it ot @1 &
et T @t 87

(a) Loop of Henle/gmerem — Kidney/freft
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(b) Fallopian tube/%eifrm zg= - Female reproductive system/ afgar s sorreft
(c) Epididymis/ wfteifefim — Male reproductive system/ ges st STt
(d) Cowper's gland /s & gfs— Intestine /s1ia

90. Match List-1 with List-11 and select the correct answer using the codes given below the
lists./

List-1 /e=f- | List-11/g=f- 11

A. Female gamete/sfeerams 1. Ovum/fés

B. The fusion of male/=rie== 2. Fertilization and female gametes/ fas=rm it wrar
JHE

C. Result of the fusion/se== = afomm 3. Zygote of male and female gametes / gew siR wfeen
! T LS
D. Germ cell/s@a 4. Gonads/mHres

ABCD
(a)4123
(b)3412
(€)2341
d)1234

91. Match List-1 with List-11 and select the correct answer using the code given below the
Lists-/

List-1/g=f- | List-11 / ==ft- 11
(Molecule)/ () (Product of digestion) /(sr=rerses)
A. Proteins/ wid= 1. Nitrogenous bases/ Trsgrsrasa

B. Carbohydrates / #eitersge 2. Fatty acids and glycerol/ #éufaesitficriia
C. Nucleic acids/ == 3. Monosaccharides/ fraerse
D. Lipids / fafre 4. Amino acids/ sfHefee

ABCD
(@)2314
(b)2134
(c)4132
(d)y4312

92. Consider the following minerals/ fr=fefaa @it w fomm =t

1. Calcium/sfezsem
2. Iron [e=r
3. Sodium feifeam

Which of the minerals given above is/are required by human body for the contraction of
muscles? /s fau T @fisi # & i @1/% 79 IR 1 AGURRET & G * A sTewas 8/87

(@) Only 1/&== 1
(b) 2 and 3/2 = 3
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(c)land 3/1 sk 3
(d) All of these/asft

93. Glisson’s capsule is found in which organ of mammals?/
TR TR e e Toh A ST TSI ?

a) Stomach/ staTerr

b) Kidney/ feret

c) Testis/ guor

d) Liver/==a

94. Match List-1 (Common Name) with List-11 (Vitamin) and select the correct answer using
the codes given below the lists./ g=fi- |l (fretfim) -1 (amm=mm)

TR S e b ol (G W TUeh SR ST oo ST

List-1 /==t | List-11/ g=h- 1
A Calciferol/ seditie 1. Vitamin A / faeafim A
B. Retinol /&t 2. Vitamin E/ faafim E
C. Ascorbic acid/ w=ifsderufae 3. Vitamin-C/ faerfim-C
D. Tocopherol / Zehmstie 4. Vitamin-D/ feerfi=-D

ABCD

@4132
(b)1432
(04321
(3214

95. Consider the following statements/ ffafaqereriofo=ment

1. Right kidney is slightly lower than left kidney./ s=ieismdrehqammeERz|

2. Structural and functional unit of kidney is nephron./ TeshEtEmTwHEFRTHFRHEH A
3. Kidney lies below liver./ frefraepaa-i=adial

Which of the statements given above are correct about kidney?/

SR ETUHHTHEh T he haHagE e ?

(@) 1,2and 3/1, 2 3t 3

(b) 2 and 3/2 =i 3

(c)1and 3/1 s 3

(d) None of these/ @

96. Study the following statements/ fr=fcRaa et s ste=m fifsig
1. Image of object is formed on sclera of eye. / & % wfafor 37 & Fauee W =T 2l

2. In the retina of eye, cones cells present for colour differentiation. / sir@ st tfemm & & fave o fog
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3. In the retina of eye, rods cells present for night vision. / stfe s 3fem & uf gfe = foe g Hifvmeed
HIS[E Bt &

Which of the statements given above are true?/ 3 fau Te semt & 19 a1 9 82
(@1,2and3/1,2 33

(b)land 2 /1 s 2

(c)2and 3/2 3t 3

(d) 1 and 2/1sx 2

97. for the implantation of fertilize ova, uterus secret a hormone-/ fs=Afésshsmivursfer,
T SUREH R T IdohdTe ?

(a) Oxytocin/ sifieifE

(b) Prolactin/ wrifee

(c) Estrogen/usgrsa

(d) Paratropin / fgife=

98. Fertilization in human takes place inside -/w=a & fas=m 3fet g &
(a) Uterus/msfer

(b) Oviduct /fEsanfet

(c) Ovigland/fEsmifer

(d) None of these/sTaaeEw=t

99. Nuclear membrane is in continuous connection with
Frgeh fereell o1 Gdd GeY BT &

a) SER/ wagem

b) RER/ smrdam

c) Golgi apparatus/ Tiesft 3uertor

d) lysosomes/ @rsaram

The outer nuclear membrane is continuous with the endoplasmic reticulum, so the space
between the inner and outer nuclear membranes is directly connected with the lumen of the
endoplasmic reticulum.

STed) qeATY] fereedt UeieeTtsreh Hesher o @Y Tt &, gufery fidfer S sedt wamy fEreet = sfter s T de
GEreATfore e % T & ST e 2
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Cell membrane

Protein expelled

Rough (4

endoplasmic e

reticulum o o
o o

a9

o
L
o

Secretory
icle

Cisternae

|
e

apparatus

100. The number of nuclear pores depends on the

Ty et ot we it et &

a) size of the cell/ =ifsrerr 1 1R

b) transcriptional activity of the cell/ st r giafsreemer mfafafer

c) DNA content of the cell/ =ifsrer it gree ammft

d) All of these/ & @+t

A nuclear pore is a part of a large complex of proteins, known as a nuclear pore complex that
spans the nuclear envelope, which is the double membrane surrounding the eukaryotic cell
nucleus. There are approximately 1,000 nuclear pore complexes (NPCs) in the nuclear
envelope of a vertebrate cell, but this number varies depending on cell type and the stage in
the life cycle.

T TEATY] f5% I o U o et 1 O few @, T away feg aftet o w9 4 ST SITar @ S oA o s e
&, St Fehfeifeen RIfreht 1iveh o STreurg i dredl freett 81 ueh mereehl it % weamy forers & e 1,000 s
foog ufter (NPCS) &1 ¥, AfehT 78w Sif3teht & Yo 31 Sfia <75k 3 =Ror 3 Mmer 1 fieT 2t 21
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